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1. Compute the remainder of the following division: 2011÷ 7.

[a] 0 [b] 1
[e] not in the list

[c] 2 [d] 5

2. Compute the quotient of the following division: 2011÷ 13.

[a] 144 [b] 153
[e] not in the list

[c] 154 [d] 165

3. Factor 2220 into primes.

[a] 23 · 32 · 52 · 7 [b] 22 · 3 · 5 · 37
[e] not in the list

[c] 2 · 52 · 127 [d] 2 · 32 · 5 · 7

4. Determine the number of primes in the interval [15, 25], endpoints included.

[a] 1 [b] 2
[e] not in the list

[c] 3 [d] 4

5. Compute the greatest common divisor of 70 and 84.

[a] 2 [b] 7
[e] not in the list

[c] 14 [d] 18
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6. Determine the least common multiple, x, of 48 and 56.

[a] 1 ≤ x < 100 [b] 100 ≤ x < 150
[e] not in the list

[c] 150 ≤ x < 250 [d] 250 ≤ x < 350

7. Determine the greatest common divisor, x, of 122 and 152.

[a] 1 ≤ x < 20 [b] 20 ≤ x < 40
[e] not in the list

[c] 40 ≤ x < 50 [d] 50 ≤ x < 60

8. Determine the least common multiple of 120 and 202.

[a] 23 · 3 · 52 [b] 24 · 32 · 5
[e] not in the list

[c] 24 · 3 · 52 [d] 23 · 32 · 52

9. How many of the following fractions are reduced:

5

34
,

33

147
,

6

21
,

7

43
?

[a] 1 [b] 2
[e] not in the list

[c] 3 [d] 4
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10. Write the decimal 1.75 as a reduced fraction.

[a]
17

4
[b]

175

100
[e] not in the list

[c]
35

20
[d]

7

4

11. Place the following fractions in ascending order:

3

7
,

5

9
,

6

13
.

[a]
3

7
<

5

9
<

6

13
[b]

6

13
<

3

7
<

5

9
[e] not in the list

[c]
6

13
<

5

9
<

3

7
[d]

3

7
<

6

13
<

5

9

12. How many of the following inequalities are correct:

1 <
2943

2944
, 1 >

9998

9997
, 5 <

79

16
, 100 >

1001

10
?

[a] 1 [b] 2
[e] not in the list

[c] 3 [d] 4

13. Evaluate

1 +
1

1 +
2

1 +
4

6

.

[a]
17

11
[b]

16

11
[e] not in the list

[c]
5

6
[d]

7

6
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14. Evaluate (
3

10
+

6

5

)
÷
(
4− 7

28

)
.

[a]
7

5
[b]

7

4
[e] not in the list

[c]
45

18
[d]

45

8

15. Evaluate (
−1

2

)3

× 8

5
+

(
1

4
− 3

5

)
.

[a] −11

20
[b] −23

20
[e] not in the list

[c]
13

20
[d]

1

2

16. How many of the following inequalities are correct:

7 >
√
50 , 5 < 3

√
3 , 5 >

√
4
√
6 , 5 <

√
4
√
7 ?

[a] 0 [b] 1
[e] not in the list

[c] 2 [d] 3

17. Simplify
√
3375 to the form a

√
b where b is square-free.

[a] 30
√
375 [b] 15

√
15

[e] not in the list

[c] 25
√
5 [d] 35

√
3
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18. Simplify
6
√
48− 7

√
27 .

[a] 3
√
3 [b] 2

√
6

[e] not in the list

[c] −
√
3 [d] −

√
21

19. Simplify, eliminating radicals at denominator,√
7

14
+

1

5
− 5

4
+ 1 .

[a]
3√
20

[b]

√
9

4
√
5

[e] not in the list

[c]
3

10

√
5 [d]

1

6

√
14

20. Simplify, eliminating radicals at denominator,√
7

3
−
√

3

7
+

√
36

21
.

[a]

√
3

21
[b]

10√
21

[e] not in the list

[c]
20

21

√
21 [d]

10

21

√
21

21. How many of the following equalities are correct:

0.314× 103 = 31.4 , 0.0314× 102 = 31.4× 10−1 ,

2000− 1× 102 = 1990 , 3141.5× 10−4 = 3.1415 ?

[a] 1 [b] 2
[e] not in the list

[c] 3 [d] 4
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22. Estimate x =
44× 10−3 + 40.02× 10−2

2
.

[a] 0.022 < x < 0.024 [b] 2.2 < x < 2.4

[c] 2 < x < 2.2 [d] 0.22 < x < 0.24

[e] not in the list

23. Estimate x = 2× 103 − 2× 10−3 + 3× 10−6.

[a] 1999.999 < x < 2000 [b] 1999.998 < x < 1999.999

[c] 1999.997 < x < 1999.998 [d] 1998.997 < x < 1998.999

[e] not in the list

24. Estimate

x =
15

5× 10−1
× 0.99× 103

6
.

[a] 4× 104 < x < 5× 104 [b] 3× 103 < x < 4× 103

[c] 5× 104 < x < 6× 104 [d] 5× 103 < x < 6× 103

[e] not in the list

25. Determine the largest power of 10 smaller than

x = 104 × 14999

300
× 1

51
.

[a] 105 [b] 104

[e] not in the list
[c] 103 [d] 102

End of Paper
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